v

6 | 5 | 4 3 | | 1
PARTS LIST
147.00 mm [5,787 in] ITEM[ QTY PART NUMBER DESCRIPTION
8 1 |M5301102 Base Panel
9 12 |M3 pull up insert M3 Insert
8 10 | 20 [M3 x 12 mm CSK Screw |Fixing Screws
Y n (I - w 10 | 20 |M3 x 12 mm Torx Screw |Fixing Screws
o o | 11 | 4 [M5300015 Rubber Foot
| 132.50 mm [5,217 in] | 12 1 |M5300025 Sub Assembly
25.00 mm [0,984 in] = | |
B < I I
—_ o I I 10
__E W, I |
= 2 = ®| |er
o m~ , (S | |
(o)) —
¢ | 3 | |
o . v | |
E|l o | — | |
El === i E==3 I | /@
R| Wb - —— | B— R
- e 9 Wl —_ 1
&v - & . &
N — — CT
170.00 mm [6,693 in] A A
3.30 mm [0,130 in]
Ay
E = 'E' HET i;'
2 ) = &
- < I LN ¢ :_1
B S i R
£ S = £ el 2
o . — f 'E' E - €
S, 2 ® 2 8| 3
S = = &y R \
e < . d+ i l o, -
= 7 — — —7 E%: A__F L AE
3 et A :
= 200.00 mm [7,874 in] S 147.00 mm [5,787 in] 3 (Y 149.00 mm [5,866 in]
5 <
(@V] .
200.00 mm [7,874 in] 172.00 mm [6,771 in]
FIRST ANGLE PROJECTION
Notes: Case comes fully assembled, Designed by Description - Date Scale
Drawing not Completely to ﬁrst angle projection_ L Clark Unidesk M200 Traffic Whlte, RAL 9016 19/06/2025 1:2
i P METCASE ENCLOSURES 1
Non sealing gasket version (M5320116). METCASE ENCLOSURES MEDT www.metcase.com
i art Number Issue Sheet
© 0K Exdlonos L (bte e showr). T Grawingcontans propritry ot of OKW Enclsucs L el eored sufot o o lewng condions e o] [RTEENC SN EOS O 0 IM5320116 1| 171
6 | 5 | 4 3 | | 1

N




